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MEET 2  PYTHAGOREAN DIVISION DEC. 4, 1997 GRADE 9 SOLUTIONS

The answer to each question is in parenthesis at the beginning of each solution.
6 5 Y
1) C43 = E e =49= 74 1= 43,
F = b
2) (12) x%-y? = (xty)(x-y). 48 = (x+y)4 ; x+y = 12.

3) (e or 2:1) Tiet AB ='1 then BD = /5- by the Pythagorean Theorem. ( JE-)Z = 2 and

12 = 1. The ratio of the areas is 2:1 .

& 1 . Sy is25s ] (5x7)x53=(5x5) x17.

5) (20%Z) Let x = percent increase (decrease).

-% (Do) =~ 1 (100ex) ; 150 - %—x S B0 %-x “8 . swib

: & 1 1 1 i ; : . 1 . 1 3

6) Cg +-§ + 57 +-§I + 162) Continuing from 4 unit fractions, i + 9 + 57 + (270 2)
F - = 9 1 3.1 1 1
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